YNty 67557 nro9onij70 NidSwA ntna

pUAYY NN (U
ATV ININ YD HON NI TV 0N

THA™WNAN DAAN 70 TR 1IN0 YR 701 25 iy

ow R Mo (‘M 4) (1
(Pex7o0IR) VTN NNDUVNLR
(Dynamically Typed) p'nx17 Danwn 20 nva .
(Explicit Memory Management) whion n>r 710 nva 2
(Implicit Memory Management) yvanwn jn>7 20 nava 1
(NYODI0IR) WD MDD
(Statically Typed) novovo nunwn aic nwa .l
(Strongly Typed) o'prn oianwn 210 N7y .1
(Weakly Typed) ow/'n nianwn 2o nhya.n

NI N2D TIEn vogpr (Strongly Typed)n'prn Danwn o naw nswa (' 3) (2

iy
foo = ‘2.5
bar = 1+foo
JiD1. N
21 X7

Nan Tn vogp (Dynamically Typed)ornxT oanwn a0 naw nova (m 3) (3

PN KD
foo = ‘2.5’
foo=4
[1D1.%
H31 K7.2

7 2% ) fa(ab)a/ AR N oAt naann nian nitnhon e (M 4) (4
(1Y) NN TIRUNON 1N INYTD R AI'NRY MY D7NNN NN
abababa .x
aaba .
aabbaa .»
aba .1
aabababa.n

73 A% mw) /a.[bel+/ Rann 1007 nneknn nan nirnnnn e (e 4) (5

20100 NI NMENoN (K1 INYD NN RYRY NI NIPNDG ITnnnn
abe X

abbbbbbbb .2

azc .a

abcbcbebe .t

ac.n

asccbhbbbcebeece



A% mw) [[a-z+ N\ Axrann gony nnevnn mikan nirnmnn poark (i 4) (6
(MU' NINA RIMMNIoN (IR RN NENY N D7rNnn nirnnnn 7o
battiel .n
Hot.2a
green .a
swamping. . T
jump up..n
undulate? .1
is.?7.1

Na-zIN\?\s+[A-Z)/ an'pann 1097 nnknn nixan nmnnnn s ((pr4) (7

NN NNENON [N INWD NN IIRY 1IN NI70NN DIEnnnRn ' a% inwe)
()

A.B.x

ctd.a

efa

g.H.7

i?7J.0

kL.t

23 2% m) /giAuirin]/ ANann 1oaY nnenn mikan nirnnan e (7 3) (8
(MWD NN NIMTNoN (PRI NN NIRY N2 N7 NNN DIrNnnn
rag.x
Iragi.a
Quantas .2
quota ¥

"stu(dent)? [0-9]+" w7ann 107 nnann nikan nimmnn e (A 3) (9
nHYQ NIAYNON [N YYD NN DIRY IN2 7NN Dirnnnn D A% inw)
(e
student 1.x
student.a
stu 195819588491 .4
studentdent 5.7

N7 aTonn ! Inwnwn oan orann onoan parr (i 4) (10
2" qio I N N LB narnonn Aoy
/*axt ) .x
[ xt( |1$) 2
[a-zA-Z)\.axt( |$)/ .a
fla-zA-Z} A txt\n/ 1

Tign yoa (matched group)nnitnn nyapn Y wnmn oa (M 3) (11

an
$string = "Pi is 3.1.4159”
$string =~ L*(\d)*/
3.14159 K
14159 2
4159 .x

159 .71



59 n
9.
ahrlainVinirn iy

? 8x 7w naunon nx APt PN PR (n 3) (12
&Px .x
$3x 2
*$x .2
\$x.T

7wn nhava 'foo’ nnont yrwmn wn Nk Nt iecyr o ((m 3y (13
? %bar
$bar['foo’].x
$har{foo" a
%bar{foo’} .a
$bar->{"foo'} .7

?90a nwnanan X (i 3) (14
#This is a comment.x
{ This is a comment } .2
/l This is a comment .x
;; This is a comment .1

?"Parrot” i ((m 3) (15
Perl 6 7w nnT7imn NONA7 Tipn DY .X
nivo1 nont Perl 6 yay (virtualizing) owon ndinaoy .
NS0 NN 6 719 Ay NRIDTY 11PN A
TN nawnn DT
7710 NN m NNK OR.N

‘o) @a=(foo’,'bar’,’'baz’) ywna qonn nwn wh nway o (i 3y (16
@a(-1).x
@a%

2]
-1} 2
$al-2].7

KN @a v ywn LKan e Tipvopa (' 3) (17
@a={a . 'd)
(1,2,3,4).n
(lai, Ibl, Ici, Id!) ':}.
(ra:, }dl) 2
THZIN DIK ARIND T

NN $a e wn an o apvspa (m 3) (18
%h = {1, 2, 4, 8)
$a = $h{3}

B
o WX



8.7
undef.in
NYN AT ANAY DITL

7830 710 T yopm nxximd oot nn (‘| 3) (19
$i = 210;
i ($iIET){
print "TRUE";
} eise
print "FALSE™;

}

TRUE .»
FALSE 2

?xaAN ‘N0 Tip yopm axvino> osTm nn (‘M 4) (20

$a=1;

sub func {
my($a) = 2;
print $a."";
&funcz;

}

sub func2 {
print$a. " ";

}

&func;

print $a;

NN - -

b ¥

L] 7

NN MNNO
N = N e
4w box

3 1

niynen “use bar:foo” miwn (‘g 3) (21
foo::bar.pl yarn nr o R
foo::bar.pm yaipn NN (vo.a
foo nnww noon bar.pl yaupn nx o 2
foo nnww nmvon bar.pm yaln K Yo T

LA wm 3/2q0an e (' 3) (22
2.N
1.5
1.2
0.7

(N0 NIVYNN 7D AN IIC) 191 11w oana ok xann m (‘| 4) (23
NTNNN N
Twn/nnen a
(tuple) m-n .a
720 nau/jirna nnon LT
090N .1



TAVA? NN DNUD TNIY N IRAD niwn paen (M 3) (24
1me 1y (preprocessornrTpnn
#define foo bar N
#define "foo" => "bar" a
#define foo == bar .2
JIN9Y% (preprocessor)nrTim Tavn 'R.T

(NN NN 7D DN NO) [IM1 0N YW Twn wen R (71 4) (25
(2,2 :nawm)
x = ((Ia!, lbl’ ICI)‘ (Id!, feﬂ! 1f1)); _N
x=1[[a",'b', 'c? [d, e, fl; 2
x[0] =Ta’, 'b', ‘¢, x[1] =['d', ‘e, 'f]; -2
x=[]; x.append(['a’, 'b', '¢]) .7
[IN'92 ODIWN 7W IR XD TWOR XD

?"5 doliars” 7on prize nanwnn ox 00T IN'92 NaN Tign vop an (‘1 3) (26
print "You won $prize'
You won $5.00 .x
You won 5 dollars .2
You won $prize .a
You wort $5 .7

N a ' TN meoa kan Tignvoi (‘(m 3) (27

d={1.2, 4:8)
a = d{3]
1.8
2.2
4 .;
8.1
None.n

X7 AT AN YT

NAD TR yom naRvimd ooTn nn (‘4 (28
a=1
def func():
global a
a=2
print a
func2(}

def func2():
print a

func()
print a



aynem _color (1 pnnn 72 nnnn mnwn ow (7 3) (29
integer lion XN NINWNN K
DYINX DYITI Y 1 01N RUNN .
nr mnwnt nwxt X ymm onnr 0T 2
NT N7 Nynen PR.T

M nunn 5 TanT 070 BN an an nvoma (7 3y (30
import re

regexp = re.compile{(r\d’)
str = "The answer is; 42°
m = regexp.search(str)
false ix true xIn MR
DPUAINR XN M.
NOTY DIXNGD TIWN KN M A



¢

RSP R

A [ree)

™~

2 TVin ,67557 00970 NIDYA NRa

OUNYY IDINAN Un
ATY N 72 MON NN Y nin
Y Y I
TTHUA'NIINN THADN 72 NN 1IN0 TN 702 A% inw

(NN nwnn D NR o) now XN e (1 4 (1
{(M9'onIp) W NNaN LK
(Dynamically Typed) o'nx1T D3nwn a0 n7ua a
(Explicit Memory Management} wnion jmo7 710 nhva 2
(Implicit Memory Management) ynnwmn Mo 2ins nwa T
(N™¥0IDI0IN) WD NN N
(Statically Typed) ni'ouo oanwn o0 Ny
(Strongly Typed) o'pra oanwn 'ato nua 1
{(Weakly Typed) own nianwn 10 nhwa.n

NI X20 MEn yop (Statically Typed)n oo aunem 310 nav nowa (71 3) (2

Rivdial
foo = 2.5’
foo=4
' 101X

DI N7T.A

7 2% mrw) /ab+c?/ NN 1027 nneknn kAN nirannn morx fpa 3) (3
70U NN MUNON IR NI NN RINY A NI ANN NIrmnnn
abc .x
ac.a
abbb .z
bbc .7

2 a% mw) fabeixyz/ Ax7IEN 100 rknn mixan nrnnnan nors (7 3) 4
(11U NN NIRYNoNA [I'NE YD NN DIRY 1N BTN TN
a.N
abc .2
abxy .2
Xyz . T
abcixyz.n

mw) /fa-zA-Z1 [N 1=/ Aawdiiann 19 naeknn naxan nitnnen e R (m 4) (5
(WD NIMA NimrnoN IR INWTI NN NIRY M D7PTNDN Nrnnmas 7 :ak

Butl= .~
BotHEr =2
Ample .2
FIdDIE7h= 7
Brittle =.»

Other.= 1



oo o Al

I v,
3 /'} O(:/ﬁ

ARTIANN 0T DRI THRAN DITRAN TR (7 4) (B
RN N U7 RN irnnnn 9 3% miy) /{very y+({fat )?(talllugly) man /
?(1Y70 NN DMYNoN N WD NN
very fat man.x
fat tall man .a
. very very fat ugly man .a
very very very tall man . v

7 find (word) ntnnn? oxnn onxnan orean moarx (m 3) (7
fAind (w™)/ X
find \(\w™\)/ .2
/find \bword\b/ .2
MAind \(\Ww{2,47)/ .7

7NN TN Yopa (matched group)ﬁlrm NN Y wm N “119:1 {'m 3) (8
' $strmg ="Pjis 3.1.4159™
- Sstring =~ /7 (\d)+/
3.14159 .~
AR ‘ . 14159 2
‘ 4159 a
159 .7
5910
9.
it

b oan anm \w annn gyt an (‘g 3) (9
AR
nman
N7 NI M .2
W OTUND DIXLT

?xan Tiyn vop R $string minwna wew nrx a4y (10
$string = "This is in a string"
$string =~ s/{i.).*(i.)A\2\1/;
inis.x
isin.a
isis .1
This isg .7
This in is a string.n

77792 DYDY N0 NNTAN NI RN Tpn o i (7 3) (1
sub foo {print "Hello, world.\n"}; .x
function foo () { print "Hello, world\n"}; .
sub &foo {print "Helle, world\n"};
void sub foo () {print "Hello, world\n"}; .
def foo: {print "Hello, world\n"};.

-4 W

Z



W L R
it -
/,.;3/,\ oA

‘s (preprocessoriarIpnn TaVnT PN KM NINAN TexInn n aTR (73 3y (12
raab)

#define foo bar.x

#define "foo" => "bar’ 2

#define foo == bar .2
{preprocessorn Tpn Tayn 797 KT

?(array of arrays) 0wn 79o0a ywn yn yx noa (‘w4 (13
@x ={(a','p', ), (d, e, T)h.x
@X = ([ialT #bl’ icll’ {ldlT le!’ lfl])? 1
@2x[0, 0] = (&, b, ‘'¢"); @x[0, 1] =(d', ‘e, ) A
279973 9N TY IUA YT YWON KT

@x n17d) 119Na oo’ NN AR @X wnn qio? qrom Ty 701 (p1 3) (14
H(@x, ocf ) yon
push @x, scalar reverse "foo” .X
push @x, reverse “foc" 2
push @x, $foo[length $foo .. 0] .a
@x .= reverse "foo" .7

ann nn “5 dollars” yas Yonn prize 9a minwn arpw nm {7 3) (13
PRIN TN TY ARNINN
print 'You won $prize’;
You won $5.00 .x
You won 5 doliars .2
You won $prize 2
You won $5 .71

R0 $a tw wn xan o iz vopa (‘(m 3) (16
%h={1, 2, 4, 8)
$a = Sh{1}

e N
PV & e 4

81
undef.n
NYTY AT ANAY NITL



T ST

/,:,/,, o

?xvan o i vop vvan o ((m 4y (17
while { chop( $a = <STDIN> ) ) {
$u{sa} +=1;
}

foreach $key ( sort keys %u ) {
print "Skey: $u{Skey}\n";
}

TR AT NN DNIYN 190N NIX 1910 X
209 T NIRRT

7127V 17202 0N NXR 69T A
Ny e nan LT

TN T NRIWA DN 9I0H N0

TNAD D Ty qroa $e hw ywan o {'m 3) 0 (18
($a, @b, $c)= (1,2, 3, 4)

3.
47
(4) A

undef .1
NYM AT ARAYN

?NAN O TP Yo nRYInd 0oTin nn {'Pa 4y (19
$a=1;
sub func {
local($a) = 2;
print $a."";
&func?2;
}

sub func?2 {

print$a."";
b
&func;
print $a;

2
2,
2
2

box

, 2

1 T

1.
1
, 2.

PO = =
- 3

1

L nemen bless nnwen ((m 3) (20
INTN OFUAIKRT QY9N NN
NN NFIONAN VPR DY
NN DOTAN 2
(Immediate valug) " Iy naman .1

N CPAN ('m 3) (21
719 7Y TN LN
719 Ay o'Tn Y 3R A
NIMD T7 7% NAn' .2
70 NIIYNA N NN X T



“”--.J;‘_)‘f’
/,3/*? o n

PHIIOR XN TN YUR ARMIND 09 TN nn {1 3) (22
X, y=1,2;xy=vy, x;printx, y
271X
224
127

7 (Mutable) mox et onn: aoxann m (‘M 4) (23
(string) nTAnn X
(list) ywn/nnwen 2
(tupie) n-n .2
(dictionary key) 712y n7au/jyna nnon 1
(numbers) omson.n

7imon (scalarpo pryn marx (1 3) (24
S.x
@ 2
Y% .2
& .1
(IN'92 V7707 INIM 'O 'R0

UMD NYD NAWNY {02 NN 0OOT |0 NIRAN nniwn pan nrr (T 4) (25
7{n1210 NIIwRN 7 DX 1In0o) foo' nnonn oy
bar[foc].x
bar{foc’}.a
bar->{'foo'} a
bar.get{'foo’) .1

NI a v wn L pmeoa Xan Tign vopa (a1 3) (26
d={1:2, 4:8)
a=d[1]

M
A
A

T

(S = S R

None.n
YT AT NN N



[ N P 4

//‘3/" rri”f(ﬂ/f

MO NAN TR VoI ARXIMD 09min nn (‘pr 4y (27
a=1
def func():

a=2

print a

func2()

def func2():
print a

func()
print a

O"2URN 7w color NIBN7 AWI? NYUNWN NIKAN RN ATR L Pmoa (7 3) (28
?0bj
obi{color) .
obj.cclor.n
obj::color .a
obj->color.T

I NOWA N1M PN XN DUINTN 0Moa nomn (0 3) (29
[121.%
151 ¥7 .2

7¥aN TiEn yup yxan o mea (71 3) (30
class abc:
arms =2

abc.legs =3
legs owa abc np7nnY (class attribute) nwTn A1DR WX
legs nwa (instance variable)wtn winm ninwn e
(compilation)uma jara nxaw e 2
YY) AT AR e LT



s
SCD\PT Jugp,‘ :u/olﬂﬁfyo

Q™5 Ip0 0P A
‘iz s~ §155T

O7NYw X3 73T TN

130 A2 7IMa

23T MW 93 AR 1807 @0 — AN21 ANK 7AWNR 0T @ 13w MYRY 1w

AIMI0°w 01131 X7 MAIN 79 Q31 12107 X7ow M1 MWD Yy a3 1770 mTpl

209°n M2Wwn 93 72 umow TIRY

.(P14) " MYRWA 92 Ypwn  mMeRwn 93 Yy mivh v

11173 ,779 nawa (Match) 7aRNA7 M7 2K 070720 NIOATNAY MO
$bool = (Sstring =~ /<regular expression>/);

29792 TANTRY 7210 720 X1 ORI N
T peT T X

Jrrsmen Mo tpn e a3
Q7P QTR NN TR NNWER L
TP e arapnYny .

MnnaY ama e
A7 NI MTPRY M Tt )
DP9nR 9w 1t12m MR

—

?(Statically Typed) n°uxuwo 79wa 21 X277 TP OX7T
Foo ="2.5'
Bar=Foo +1
Lpmp X
ApmEnsy 3

i
/X(yx)*(Xz)*x/ :MUM7 MPpw T7RIT IR 2N IR

.(7?3’&1’1’ X7 QTIww IR WIRN? 0TI I DNONN 1NIH3AW R0 '7117W 241t )b £ .'IJNJT[)
Axy"eixa¥x ) X

/x(ab)?x/ .2
xlyzy*
Axlyzl* <)t o
(yxxzy*x/
? /a(belxyz)?/ M¥1377 M 27 (matches) 7R MR MMM 70
abx X
¥z A
bca

s

(TP o =) "
belxayz .n

o

o8)




'k //"@Pﬂ

? la-z]+H\\21]28/ x50 oy (matches) ma'knn mxa mmmans 4

Fight! x
go? where? 2
green .3
AlLG. 71
jump up* 7
undulate??
e
?/(t )k )?(wls) nee/ M7 w0 (matches) maRna MXIT MMIMATA M S
tk wnee .X
tWwsnee. 2
tkwsnee
tiee 3
tnee - .7

?(a-z) 7I0P NP23IX MIX QY M2 MNAY MMM 27 99K 2°K3T 07 K91 Q™M n L6
/["a-z]/

/Na-z]/

N\w]/

/[a-z].*$/

i

..j .;1

? "B(to)E" nm1m? (matches) a'xnn ovxai o™1wmamn of
b o 04

/0to()/

/B(t)?E /

/B(to)E /

MN\bES/

R T

=T

=]
[»]
o

2979 nawa 19xpoY 11°on
$

X

=
A
& 7
B

Fooa
7779 % preprocessor -7 NPT NTIPY X1 AT ATIUTAN AN .9
#define foo bar .x
#define "foo" => "bar" .3

#define foo =bar .1
preprocessor I'X 7199 .7

7779 nawa N1y avams PR .10

#This is a comment .X

{ This is a comment } .3
// This is a comment .x
;; This is a comment .7

-




s = S ST . <t il &
[/ F / ) 0PA
I3 2797 Mp yup 09T .11
Sprize = "5 dollars";
print 'You won Sprize';
Youwon $5.00 .x
You won 5 dollars .2

You won Sprize .3
You won $5

?@a =("foo', bar', 'baz') TI¥na bar' 7D wAr QWA 71,7791 .12

i @a(l) .x
@a[2] 2

Safl] 2

5al2]

X271 7797 TP wup R Sa v 1w At an .13
%h=(1,2,4,8)

Sa =Sh{1}
I R
LS.
L
undef .7
4 0
TXTI XA I TIRR YR 0
X237 2790 TP yup 097 n .14
Si=621;
if (8i gt 1000)
{
print "TRUE";
}
else
{
print "FALSE";
} £
TRUE .x B
BALSE .3
?CPAN mynwn n .15
Common Perl ANnotation .X
Comprehensive Perl Archive Network .2
Corporate Perl Administration Network .3
3

Creative Perl AcroNym




. ittt
? YA

72X 93 P vop 09 A .16

Pt 1

jcCal($a) = 0;
print Sa;
&func;
}
sub func2 {
print Sa;
}
print $a;
&func;
print $a;
1000 .
gl - 2
010 3
1kl 3
2XIT UM TP YORP 09T o .17
a=10
b=3
if (a==25):
if (b =23):
print a
b=6
printb
3R
-« fufgion:
106 2
2R
s o n

1079 9w preprocessor -7 NPT NTPD XIT 4°KAT 20T K 18
#define foo bar .x
#define "foo" => "bar" .3
#define foo =bar .3
preprocessor X UMb 7

Mu™aa 7wn oama R .19

# This is a comment
{ This is a comment }
// This is a comment
;; This 13 a comment

8 obe g o




VHp-JIT . S

=k /i /o PA

7RIT UMD TP YUR NRY a Yw 7w 7 o .20
mydictionary = {1:2, 2:3)
a = mydictionary[3]

d0R
2
A
None .7

A3 N X TR yop 0

?0range LpP™ T YW color U1PIVRY DWW MRIT N9 MTMpan 7 21
‘ Orange(color) .X

Orange.color

Orange::color

Orange->color

i

‘.] '5,:

(_color :Xax177) 210792 QInwn 2 QW N NN YW mynwnd an .22
.Integer 3101 X7 TINWATY P00 WX

RionbE st bislisgatyi7diplalela

0193 Ynon X7

JT13 7INwn? W XPWw 79 Q1907 172 23010 1170 AT

SPPNNAR? 2w 3T Janwnane noh a'niona 12 ad0m 0

L b g

7R2T 0TIT TP YUP 07 i .23
String = ‘abcdefg’
Reg = re.compile(r’(\w).((\w)(\w*))’)
Result = Reg.search(String)

print Result.group(2)
a X
o
abcdefg .2
bcdefg .7 o
cdefg .7 g

DR X1P7 X7 IR 7WT PIR Y¥27 WOR W R0 JINwn 110792 11¥°7 WO axi .24
Phiivivista R aisiaRvli7de mhits
LWwaR)D X
L(wIRW)X? .2




07 .00 4%
Vv / YA / / ©F)
P JA /
/}jlb J\)' e
2702778 277 yman
727 BYIR M — 23/7/06 'x TIM - 67557
O7NYT X AN Ton e
T30 MIMAAINIT e
AMI3IT MW 93 nX 1w — A3 ANX Iwnn ne oo 1130 MR 1 e
IO 2°N31 X7 MAwn Sy a3 13m0 2w MN31 mawn Sy g3 1790 mmMp1 e
209°0 mawrn; 93 1 U0 IINT e
(P14) 57t moxw 99 T N 93 Sy M5 e e
M9 579 naga (Match) maxna 23195 Q7R3 20°3% monnnw moxRTa e
$bool = ($string =~ /<regular expression>/);
973 MO "5 o1 NI e ]
.Dynamically Typed x
.Explicit Memory Management 1
Implicit Memory Management 3
Interpreted .7
Statically Typed .7
Strongly Typed
Weakly Typed :
?(Weakly Typed) w5n n7amm 3T P XIT TP ANy 2
Foo ="2.5'
Bar = Foo + 1
(M ox
OPMRI)INRS 3
? /a(ab)*a/ K513 luknl; (matches) m*xnm nxan mmmmnon 3
abbbaa x
aababa 3
aba .
abbbaabbb 7
ababa .
? /a[be]H[Acb]+$/ o3 10°3% (matches) moxnn MRIAT MM s 4
abe %
bz A
azZe 3
aza .7 :
acs =
accbbbbebeceesed 3 5
accbbbbebecccacd  t :
? /a(be\\xyz)?/ Mo 9737 (matches) mavxnn mRaammma a5 3
abc\xyz .x
‘ xayb\ .23
. Xyz 3
i abc\\xyz .7

(7?7 nrman =]

S




J §m el
,' 1 /
¥ rlo
5 ? "Be (To)" nnnn? (matches) X axan o™i m .6
/Be \(\b\b/ X
/To()/
/Be( )/
/Be (To)/
/e \(T/

|k ‘ra?‘k::Jt il

i

I IR O

XL AT YR oo 7
"12345.76" =~ m/1(2\d*?).*(\d+)/;

print 81;
7R
= G
234 2
= 2345 .1

XTI TP yop otaT A .8

"

$string = "This is in a string
Sstring =~ s/(i.).*(i.)/$2 §1/;
print 3string;

%

n 1s

is in

Is 1S

Thin isg

This in is a string
This is in a string
§281 1

IR

=a

7573 nawa $x-7 reference Sw N3t AT w9
&Sx

$Sx

*$x

8x

#X

Pl b i

7979 nawa o™3vn Yw ¥ g TR .10

@x=((a, b, 'c), (d,'e, T));

@x=([2, ", <], [d, e, 'f]);

ITIN X

: @x[0, 0] =(a, b, 'c"); @x[0, 1]=(d, ‘e, 'T);

%

1o iy

7579 nawa NYIPI9T arunia nnTwa a1 atana an L1l

"by value" gmanna TXP9? AR OT0AN9T X
by reference” o™ TIPNA7 OTANME OTWRTAT .3
(list) tmzna oaym amene. S

TP Tunnas anwn v reference 1ayn? WAk LT

IMPTT T0 MK MR QTP TV 93 21 X7 aTenen nmew 770




b7
J’/;z Yz
PN

X2 7797 TP YUR IR @a Twaanan .12
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while ( <STDIN> ) {
chop;
Suf{S_} +=1;

foreach Skey ( sort keys %u ) {
print "Skey: $u{Skey}\n";

}
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Sa=1;
sub func {
my(Sa) = 0;
print Sa;
&func2;
}
sub func2 {
print Sa;
!
print Sa;
&func;
print $a;
1000 .
1001 .2
1010 2
1011 .7

?"use list::container" w37 Myawn 77 S 15
list::container.pl :p2pwa nx i .X

list::container.pm 721777 nX 10

Jist awa 771900 container.pl Y2171 nX [

list awa 7o0n container.pm 727 DX Y19
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string  .X
list .2
mple 3
dictionary key .7
numbers .7
MY NAT TIPS T MIRAT MR .19
def foo(): .x
function foo (): .2
sub &foo .x
sub foo .7
void sub foo () .1
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x = list(); x.append(['a’, b, 'c']) A
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mydictionary = {1:2, 2:3)
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|
2000
Bl
None .7
JWTI AT PM R PR YR .3

.




JJMP// ol
P .

NI TOYET TP VUR 0WT A1 L4

a=1
def func():
global a
a=90
print a
func2()
~def func2():
print a
printa
func()
print a
1000 .x
1001 3
1010
101 .
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a=2
b=2

print (a=Db),(aisb)
True True X
True False .2
False False .2
False True .7
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def foo(a):
return a+1
b=foo
print b(5)
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public .X

private

protected .3
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foo = ‘2.5’
bar = 1+foo
[121.X
[121 X7.2
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$AO) +2{}.I[]x
$r()*+?2/-&{}.|[]2
$A()*7-. 1]
+2-{} 10T
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$a=1;
sub func {
$a = 2;
print $a."";
&func2;

}



sub func2 {
print$a."";
}

&func;
print $a;

NTYa N7 KR X pn Nk, Tra {print "Hello, world."};7192 nxpaie 'maman (8
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:nnxn CPAN nia'nn 'wxa (9
Common Perl Annotation .x
Comprehensive Perl Archive Network.a
Corporate Perl Administration Network .a
Creative Perl AcroNym .1
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"Practical Extraction and Report Language" > "Python"
True.x
False .a

qI¥'N TXO Jtuple=a,b,c,...,.z nxamn My e 2 09 n-nox mea (11
?1 7xa n-n

tuple = a.x
tuple = [a] .2
tuple = (a) .a
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def foo(): .x
function foo ():.2
sub &foo .a
sub foo.T
void sub foo ().n
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urllib.a
htmllib .2
urlparse .7
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a=[1,2]



b=a

if ais b:
print "TRUE"
else:
print "FALSE"
TRUE .x
FALSE a
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#This is a comment .x

{ This is a comment } .2
/I This is a comment .a
;; This is a comment.T

:2md1 @a=(‘foo’,’bar’,’baz’) \ayna ‘bar’ 1we nwa e (17
@a(1).x
@al[2] 2
$a[1] .a
$a[2] .1





